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[nsteuciions for Candidates

1. Write your Roll No. on'the top immediately on receipt
of this gquestion paper.

()

Answer any 5questions.
3. Al questions carry cqunl marks.

4 Angwers moy be wrillen cither in English or Hindi;
but the same medivm should be used throtighout the
PAPEL.
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What do we mean by macroctanomie stability or
balnnee? What ‘has been India’s record oo external
balange from 1991 10 20167
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What have been ilil!: drivers.of transformation in
agricultore and allied activities since 19917 Does this
also imply & tragsformation of the rmiral secter?
Explain:
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{a) What are the moin argumesnis in favour of {and
reforms? What are the (metors which =ffect (he
suceess of land reforms?
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{B) Whai are the sreas of concern and the nesied
gorrectiom required with respect to frripation in

the Indian agricubture?
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The trajectory of the indusirin) sector of Tadis since

independence hns been quite shiggish in fecms of ita
contribution 1o the Gross Domestic Product. Evaluate
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Whit are the major arguments in favour of Forsign
Brirect loveitment (FRI) for & country? Flow has Indin
henefited from FDIafter substantially opening up the
eeonomy 1o EDIY
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&, Explain the challenges of the services-led growih of

ihe Tndias Ecanomy citing the role of liberalisation in
s zeelon
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7. “There arc constraints on public, household and

corporaie balance sheets; abandoning export
orientation is akin to killing the only goose that can
oy eges.” Using the above statement, explatn whether
the trade policy adopted in the Indian economy is
warrnnted and will it work in the futiare?
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§.  Write short fiptes on any two of the following:
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(a) Inflation Targeling
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{b) Low skill manufacturing expo
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(c) Privatisation theory
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{d) gervicification trends in Indisn Manuis
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